sz 3 Il s e
— el gl 52y O

sl s dases gl el gl 55y L

&/iz%“jdwﬁdU’/.é,&c}gg:/é'é—éjaj,u{»"fui—wﬂ@-106496

Jr

égi”‘b';Q‘/Gwé“'/ﬂﬁ/';évdé/”i—ujd‘ug‘E}/@’a—éjabﬂ,/)’fpa.d,gﬂ/"}@;WJK}KJJU:.U;i;u‘?V.ﬁ
SN
q’Q.V;)/.L.é..'/’u"’.d/d‘”Erl/q‘;é—i)/édjyiuij/.ég;_‘ﬂyl

I ouns

fb‘ﬁ_‘,guﬁcwuﬂqc«,w LJ‘;"”:}LU/'LLo?’o”:(kdi‘(u"/J'QW'J5'£:W'§/5‘UW}@L‘54501P g ninset S
Py T A AT VN2

f."'gézé—J;Jd:JjL,J'uWJqu';/u'ab/y:ta_,),z,ébf(ydlc;i,@
e g 1

(355—354/15) 55 = Jrs (SsT3 ¢ o

171


https://m.islamqa.info/ur/answers/106496
https://m.islamqa.info/ur/answers/106496

